Listed below are the net sales (in millions of euros) for the Adidas Group from 2008 to 2012.

Year 



Net Sales

2008 ………………….
10,799

2009 ………………….
10,381

2010 ………………….
11,990

2011 ………………….
13,332

2012 ………………….
14,883
a. Determine the index for 2012, using 2008 as the base period.

b. Use the period 2008 to 2010 as the base period and find the index for 2012.

c. With 2008 as the base year, use the least squares method to find the trend equation. What is the estimated consolidated revenue for 2014? What is the rate of increase per year?
SOLUTION
Consolidated revenue is the aggregated amount of revenue which is generated from the sales of goods and services or any other source of income which is associated with the businesses is included in the revenue. In addition to that, revenue generally shows the top item in the income statement, afterwards all items such as expenses, different types of charges and costs are subtracted from the revenue. 
a.
137.8, found by (14,883/10,799)100.
b.
134.6, found by (14,883/11,056.7)100. 11,056.7 is the average for the period 2008 
to 2010.

c.
8941 + 1112t and 16,725, found by 8941 + 1112(7)

